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8,500,000 gbg 9,850,000 log 10,870,000 ylogs 9,850,000 gbg e
8,500,000 ybogs 9,350,000 glogs 10,870,000 ylogs 9,850,000 ybogs s
8,500,000 ylogs 9,350,000 glog 10,370,000 ylogs 9,850,000 ybogs i
8,500,000 gbg 10,600,000 logs 12,660,000 ylogs 10,470,000 ylogs D = R
8,500,000 ylogs 10,360,000 g loss 12,410,000 ylogs 10,620,000 ylogs i
8,500,000 logs 10,620,000 ylogs 12,920,000 ylogs 10,870,000 ylogs g
8,500,000 logs 10,620,000 ylogs 13,430,000 ylogs 11,130,000 ylogs e
8,500,000 ylogs 11,380,000 o loss 16,500,000 logs 12,660,000 ylogs e
8,500,000 logs 12,660,000 ylogs 17,780,000 ylogs 13,300,000 ylogs o
8,500,000 gbg 12,660,000 logs 19,060,000 ylogs 13,940,000 ylogs TS
8,500,000 gbg 12,660,000 logs 19,060,000 ylogs 13,940,000 ylogs T
8,500,000 ybogs 12,660,000 logs 20,340,000 gbog 14,580,000 ylogs R
8,500,000 ylogs 13,940,000 g loss 20,340,000 ybog 14,580,000 logs CE e
8,500,000 ologs 15,220,000 ylogs 21,620,000 ologs 15,220,000 ylogs A
8,500,000 logs - 20,340,000 plogs 15,220,000 ylogs e
8,500,000 gbg 15,220,000 loss 22,900,000 gbg 15,860,000 ylog; T
8,500,000 ylogs 16,500,000 o los 24,180,000 ybog 16,500,000 ylogs e
8,500,000 logs 17,780,000 ylogs 26,740,000 gbg 17,780,000 ylogs ey o
8,500,000 gbg 19,060,000 logs 38,260,000 gbg 26,100,000 gbg T <
8,500,000 gbg 24,180,000 obs 49,780,000 obg 29,300,000 gbg R | A
8,500,000 oloss 26,740,000 ologs 52,340,000 olosi 30,580,000 olosi e
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